& AR E A A

==
T
2
.

20173 =0 & LA =EZ AP A

SN 2T AYA
B gazALRe
S DSALE NESY CERED
4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AP A 7,121,202 6,975,569 145,633
Xl 300,000
= 6,821,202
A4 A4 497,032 592,069 N 95,037
N 300,000
= 197,032
DISALEE AIE2Y 497,032 592,069 N 95,037
Xl 300,000
= 197,032
lsasE S22 62,461 62,969 A 508
201 et 39,691 40,199 A 508
01 AP 2t 2] H| 19,095 20,933 A 1,838
OlgerE24] 19,095
O0IE a4 HEAAFANE 272 MY 2|
40| 6}) 120,000 * g2+ A 720
OlIS&4+T YU Al =22 18,375
o BIIZAHESE 1401 &=2)
63,500& * 300 = 33 5,715
o MIIZAH(HE 4 5504 & =)
335,0008 * 300024 + 13 10,050
o BIIAA(Rets #2)
11,0008 * 300 * 18] 330
o HIIAAHEE 11HE=)
76,000 * 300HA * 18] 2,280
02 2324 20,596 19,266 1,330
OlZ2Z222LHA] 6,180
OSEBRIAIAE QEY 3lAY
20,000 * 84 ~ 6 960
O EstaeANAE M2
15,000& = 84 * 68 720
OlIs&d4+T B&H2AE IR
15,000 = 5]Hﬁ\_ = 128 900
OlISA+E FLHEALE HIIL2(EAH
HEX) 150,000 = 2 & = 12&€ 3,600
O[ANAEZH RXH] 14,416
O&8+=HelAlE &L SetaeAlA8 KA 22| 4,516
o EALHI (LB AH)
445,000 * 200 A 890
ARE WH
400,000 = 500 A 2,000
(2H) 990,000 * 14l 990
1 (5um ) 1 &l
8,000& * 21004 » 200 A 336
22l (1. 1kw)
100,000 * 3 300




SA SETARA
A MLECARB
Sl DISMAE AE2Y SEREED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OltS2&dax Ald22 KXl
300,000& » 330 2 9,900
206 M= Hl 2,770 2,770 0
01 M= 4l 2,770 2,770 0
ODISALE +HAME AATY
0,000& = 3& =+ 33 720
OllS44+E 22 45247 2,050
O H 3,000& * 150kg 450
O % 800& * 2,0004 1,600
401 Al HIZ 201 8] 20,000 20,000 0
01 A& HI 20,000 20,000 0
OlISidsE HFE2IA
3,000,000 = 200 A& 6,000
Ottsa=E 2223 M
2,000,000 = 40 A& 8,000
Oltsaa=S ASAIE wHbl
3,000,000 = 200 A 6,000
A2 ZAE HEAY 428,571 450,000 AN 21,429
X 300,000
= 128,571
401 Al HIZ 201 I 428,571 450,000 AN 21,429
Xl 300,000
s 128,571
01 A& HI 428,571 450,000 AN21,429
O21&E = A& &  428,571,000& » 14 428,571
Xl 300,000
[ia 128,571
22 =EAE H3X™eltl 6,000 15,000 A9,000
401 A& HIZ 201 8] 6,000 15,000 A 9,000
01 A& HI 6,000 15,000 A9,000
OHSXclH % OIESAIE HEES SAHI
3,000,000 = 200 A 6,000
HREs(>TAga) 6,624,170 6,383,500 240,670
WEHHX = 6,624,170 6,383,500 240,670
ac SIYNNE dE=S 1,989,900 1,113,500 876,400
701 JIEtel HSHEE 1,989,900 1,113,500 876,400
02 SISEL A = 946,900 813,500 133,400
O&=< oy (36¢2!)
940,400,000 * 14 940,400
O&2=% JIMOIA &2 (3SENZ2)
6,500,000& = 14 6,500
03 BIILELEINHMENES 1,043,000 300,000 743,000




SA SETARA
HH: HRES(LTAYL)
S WEAHAHX = (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJIMEz M (asEXI)
180,000,000& * 14l 180,000
Os0E NS HEAL(2EIR)
400,000,000& * 14 400,000
Os0E NgaxE HEAL(2AHXR)
63,000,000& * 14 63,000
Obi#7e =T 445 2R0HLAY
50,000& * 4,000m 200,000
OUEE=+Z 222 DHSA
200,000,000& * 14 200,000
ot== ZBIIHXNE == 4,634,270 5,270,000 A 635,730
701 JIEtI HEEES 4,634,270 5,270,000 A 635,730
02 BIILELEHBHEES 3,150,000 3,150,000 0
Odts=S ol2ddl XI&(269!)
1,000,000,000& * 14 1,000,000
Ogot=32L M2 s32YHI(MI],0tA S
) 1,500,000,000& * 14 1,500,000
OHEdt=HXelAlE 2l
250,000,000& * 14 250,000
O0tsdt==xXeclZ 2ZHl 400,000,000& = 14 400,000
03 BIILELIHUNENES 1,484,270 2,120,000 A 635,730
O%Y LS5+22 FUAY(2HRE)
200,000,000& * 14 200,000
038 &35 s0E0t2 o= IJHIAS (2]
2g) 128,570,000 * 14 128,570
OHHL(ZA) ot=HMeld EXMS(ZHEH)
500,000,000& * 14! 500,000
OgY> ot dH JI2AHE(HE) 89|
500,000,000& * 14! 500,000
Oodt=XclAlE & 2e BEd dEEY
15,000,000& * 14 15,000
OALRR OISdt=& FUHISA
140,700,000 * 14 140,700




